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¾ Æ

�����3RVORYQD�VWUXNWXUD�SRGUXþMD�3UHGRY�.UVW�
3RGUXþMH�3UHGRYRJ�.UVWD�PRåH�VH�VWUXNWXULVDWL�X�RNYLUX�WUL�VXESRGUXþMD��

��� 8OD]QL�SXQNW�NRG� ,QIRUPDFLRQRJ�FHQWUD�X�PHVWX�3HUXüDF�JGH�VH�QDSODüXMH�XOD]�X�1DFLRQDOQL�3DUN� L�3UHGRY�.UVW�� WH�VH�RUJDQL]XMH�
SUHYR]��GDMX�LQIRUPDFLMH�R�SRGUXþMX��YUãH�UH]HUYDFLMH�VPHãWDMD��RUJDQL]RYDQLK�SDNHWD�DNWLYQRVWL��LWG��

��� 3UHGRY�.UVW�SODWR�VD�LQIRUPDFLRQLP�SXQNWRP�L�NRPHUFLMDOQLP�VDGUåDMLPD��WH�VPHãWDMQLP�REMHNWLPD�
��� &HOR�SRGUXþMH�3UHGRYRJ�.UVWD�L�NUDMQMHJ�GHOD�1DFLRQDOQRJ�3DUND�RJUDQLþHQR�WRNRP�UHNH�'ULQH�NRMH�QXGL�MHGLQVWYHQL�GRåLYOMDM�SULURGH�

'HWDOMQLMD�VWUXNWXUD�3UHGRYRJ�.UVWD�]DVQLYD�VH�QD�VOHGHüLP�HOHPHQWLPD��
$�� 3UYL�NRQWUROLVDQL�XOD]QL�SXQNW�]D�3UHGRY�.UVW�L�LQIRUPDFLRQL�FHQWDU�13�7DUD��NRML�MH�VPHãWHQ�X�3HUXüFX��WUHED�GD�QXGL�VOHGHüH�

XVOXJH��
R� QDSODüLYDQMH�XOD]D�X�13�7DUD���3UHGRY�.UVW���
R� SUXåDQMH�FHORYLWLK�LQIRUPDFLMD�R�SULURGQRM�L�NXOWXUQRM�EDãWLQL�7DUH���
R� XVOXJH�UH]HUYDFLMH�VPHãWDMD�QD�3UHGRYRP�.UVWX��DOL�L�FHORP�SRGUXþMX�7DUH�
R� RUJDQL]RYDQMH�SUHYR]D�GR�3UHGRYRJ�.UVWD�L�RVWDOLK�SRGUXþMD�QD�7DUL�
R� XVOXJH�RUJDQL]RYDQMD�L�UH]HUYDFLMH�UD]OLþLWLK�DNWLYQRVWL�
R� LQIRUPDFLMH��PDSH�L�RVWDOL�PDWHULMDOL��R�ELFLNOLVWLþNLP�VWD]DPD��YLGLNRYFLPD��WDþNDPD�LQWHUHVD��LWG��
R� SDUNLQJ�

%�� 'UXJL�NRQWUROLVDQL�XOD]QL�SXQNW�QD�3UHGRY�.UVW���13�7DUD��NRML�MH�VPHãWHQ�QD�3UHGRYRP�.UVWX��WUHED�GD�QXGL�VOHGHüH�XVOXJH��
R� QDSODüLYDQMH�XOD]D�X�13�7DUD���3UHGRY�.UVW�
R� RUJDQL]RYDQMH�SUHYR]D�GR�RVWDOLK�SRGUXþMD�QD�7DUL�
R� SDUNLQJ�

&�� &HQWDU�]D�SRVHWLRFH�NRML�SUXåD�FHORYLWX�RUJDQL]DFLMX�L�NRPXQLNDFLMX�LVNXVWDYD�WHPDWL]RYDQRJ�SDUND�SULURGH�3UHGRY�.UVW��WUHED�
GD�UDVSRODåH�VOHGHüLP�VDGUåDMLPD��
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R� ,QIRUPDFLRQL�FHQWDU���SRQXGD�LWLQHUDUD�]D�SRVHWX�RNROQLP�SXQNWRYLPD�VD�VWDQLãWLPD�DXWRKWRQLK�ELOMQLK�L�åLYRWLQMVNLK�YUVWD�
�VWDQLãWH� 3DQþLüHYH� 2PRULNH�� VWDQLãWH� PHGYHGD� L� GLYRNR]H� QD� =YLMH]GL� L� 9HOLNRP� .UDMX�� � LWG���� YLGLNRYDFD�� LWG��� VD�
PDSDPD�L�VYLP�SRWUHEQLP�LQIRUPDFLMDPD��WH�VD�NRPHUFLMDOQRP�SRQXGRP�ORNDOQLK�UXNRWYRULQD��VXYHQLUD��LWG���

R� (NR�PX]HM���(NR�PX]HM�QXGL� LQIRUPDFLMH� L�QD�LQRYDWLYDQ�QDþLQ�SULND]XMH�UD]QRYUVQRVW� L�ERJDWVWYR�SULURGH�13�7DUD��D�
WDNR H�QXGL�SULND]�WUDGLFLRQDOQRJ�QDþLQD�åLYRWD��NUR]��SULPHUD�UDGL��NRULãWHQMH�WUDGLFLRQDOQLK�DODWD�X�LVWRULML��WH�SULND]XMH�
HYROXFLMX�FHORJ�NUDMD���

R� &HQWDU�]D�DNWLYQRVWL���SRVHWLRFLPD�QXGL�UD]QRYUVQH�DNWLYQRVWL�XþHQMD�L�]DEDYH�WRNRP�FHOH�JRGLQH�
R� 3URVWRU�]D�UDGLRQLFH��WHþDMHYH��VDVWDQNH�L�VOLþQR��
R� 5HVWRUDQ�VD�YUWQRP�WHUDVRP�
R� &HQWUDOQR�SLNQLN�SRGUXþMH�±�IRUPLUDQR�GR�VDPRJ�&HQWUD��D�NRMH�EL�SRVOXåLOR�L�]D�RJUDQLþHQH�PDQLIHVWDFLMH�L�GRJD DQMD�
R� 3URGDYQLFH�VD�ORNDOQLP�SURL]YRGLPD��UXNRWYRULQH��VXYHQLUL��ORNDOQL�SUHKUDPEHQL�SURL]YRGL��LWG���

�
'�� 9LGLNRYFL� ��XUH HQL� L� RSUHPOMHQL� YLGLNRYFL�� ORFLUDQL� QD� VWUDWHãNLP�PHVWLPD� VD�QDMOHSãLP�SRJOHGRP�NDNR�EL� VH� SRYHüDR�QLYR�

DWUDNWLYQRVWL��WH�NUHLUDOR�LVNXVWYR�SULURGH��
�

(�� 3HãDþNH�L�SODQLQDUVNH�UXWH�±�XUH HQH�UXWH��RSUHPOMHQH�VLVWHPRP�RGPRULãWD��D�UD]YHGHQH�SR�FHORP�SRGUXþMX�3UHGRYRJ�.UVWD��
YRGH�GR�NOMXþQLK�WDþDND�LQWHUHVD�L�YLGLNRYDFD��NDNR�EL�VH�JRVWLPD�SUXåLR�FHORYLWL�GRåLYOMDM�L�UD]XPHYDQMH�SULURGH�L�NXOWXUH�RYRJ�
SRGUXþMD��

�
)�� .OMXþQH� WDþNH� LQWHUHVD�±� NUHLUDQH� WDNR�GD� LQWHUSUHWLUDMX� HOHPHQWH� ELOMQRJ� L� åLYRWLQMVNRJ� VYHWD�� ]DWLP�HWQR�EDãWLQX�� WH� RVWDOH�

SULURGQH�]QDPHQLWRVWL�13�7DUD��QSU��
äLYRW�7DUVNRJ�PHGYHGD
��
6YHW�RPRULNH
��
/MXGL�L�7DUD
��
,]YRUL�7DUH
�LWG���
�

*�� (NR� VHOR� -DJRãWLFD� �� UHKDELOLWDFLMD� -DJRãWLFH� WUHED� GD� VH� XUDGL� WDNR� GD� VH� SRVWRMHüH� NXüH� JUD HQH� WUDGLFLRQDOQLP� VWLORP�
SRVWHSHQR�UHKDELOLWLUDMX�L�QDPHQH�]D�SUXåDQMH�XVOXJH�VPHãWDMD�VD�YLãLP�VWDQGDUGLPD�NYDOLWHWD��8�RNYLUX�VHOD�SRWUHEQR�MH�GD�
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VH� RVLJXUD� SRQXGD� MHOD� L� SLüD�� D� SRVHEQR� ORNDOQLK� SURL]YRGD� L� VSHFLMDOLWHWD� �SUãXW�� VLU�� UDNLMD�� YRüH�� SRYUüH�� LWG���� (NR� VHOR�
-DJRãWLFD�WUHED�GD�SUXåL�GRåLYOMDM�UXUDOQRJ�åLYRWD�L� WUDGLFLMH�NUDMD��WDNR�GD�VH�RUJDQL]XMH�L�QMLPH�XSUDYOMD�NUR]�VLVWHP�XVOXJD��
LQIRUPDFLMD��UH]HUYDFLMD��RUJDQL]RYDQLK�DNWLYQRVWL��LWG��

�
�

� 1DSODWD�XOD]D � 1DSODWD�XOD]D � ,QIRUPDFLRQL�FHQWDU
� 3UXåDQMH�LQIRUPDFLMD�R�SULURGQRM�L�NXOWXUQRM�EDãWLQL�7DUH � 2UJDQL]RYDQMH�SUHYR]D � (NR�PX]HM
� 5H]HUYDFLMD�VPHãWDMD � 3DUNLQJ � &HQWDU�]D�DNWLYQRVWL
� 2UJDQL]RYDQMH�SUHYR]D � 3URVWRU�]D�UDGLRQLFH
� 2UJDQL]DFLMD�DNWLYQRVWL � 5HVWRUDQ
� ,QIRUPDFLMH�R�VWD]DPD��YLGLNRYFLPD�L�VO� � 3LNQLN�SRGUXþMH
� 3DUNLQJ

8�RNYLUX�RYRJ�SODQD�QLVX�SULND]DQL�VPHãWDMQL�NDSDFLWHWL�NRML�üH�ELWL�SUHGPHW�SULYDWQLK�LQYHVWLFLMD

9LGLNRYFL
3HãDþNH�UXWH

(NR�VHOR�-DJRãWLFD
.OMXþQH�WDþNH�LQWHUHVD

,QIRUPDFLRQL�FHQWDU�
���8OD]QL�SXQNW�3HUXýDF ���8OD]QL�SXQNW�3UHGRY�.UVW

�326/291$�6758.785$�32'58þ-$�35('29�.567
���3RGUX MH�3UHGRYRJ�.UVWD

,QIRUPDFLRQL�FHQWDU� &HQWDU�]D�SRVHWLRFH�

�
�
�
�
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�

�����6DGUåDM�WHPDWL]RYDQRJ�SDUND�7DUD�
&HQWDU�]D�SRVHWLRFH��

��� ,QIRUPDFLRQL�FHQWDU�XNOMXþXMXüL��
R� 3RVORYQLFX� ]D� SURGDMX� L� UH]HUYDFLMX� NDUDWD�XOD]QLFD�� WH� SRQXGRP� UD]QRYUVQLK� LQIRUPDFLRQLK� PDWHULMDOD� R� 13� 7DUD� �PDSH��

NQMLJH��L�RVWDOL�PDWHULMDOL��
R� 3URGDYQLFX���NQMLJH��åXUQDOL��PDJD]LQL��QRYLQH��VXYHQLUL��PDMLFH��ãDORYL��RORYNH��SRVWHUL��UD]JOHGQLFH�L�VOLþQL�DUWLNOL�VD�PRWLYLPD�

1DFLRQDOQRJ�3DUND���ORNDOQH�UXNRWYRULQH��NHUDPLND��VOLNH��IRWRJUDILMH��VWDNOR��LWG����SURL]YRGL�YH]DQL�X]�ELOMQL�L�åLYRWLQMVNL�VYHW��WH�
LVWRULMX�L�JHRJUDILMX�1DFLRQDOQRJ�SDUND��LWG��

R� 2UJDQL]DFLMX�SRVHWD�L�WXUD�VD�YRGLþHP�QD�UD]OLþLWLP�MH]LFLPD��VUSVNL��QHPDþNL��HQJOHVNL��LWG���
�� WXUD�
2PRULND�
�� WXUD�YLGLNRYDFD��%LOMHãNH�VWHQH��2UORY�9LV��LWG���
�� WXUD�-DJRãWLFH�
�� WXUD�L]YRUD��2PDUVND��0LOLMLQD�NXüD��LWG���
�� WXUD�SRVPDWUDQMD�ELOMQLK�L�åLYRWLQMVNLK�YUVWD��=YLMH]GD�L�9HOLNL�.UDM��
�� RVWDOR�

R� 2UJDQL]DFLMX�UDGLRQLFD�L�WHþDMHYD�R�ELOMQLP�L�åLYRWLQMVNLP�YUVWDPD��JHRJUDILML�JHRORJLML�SRGUXþMD��SUDYLOLPD�L�]DãWLWL�X�1DFLRQDOQRP�
3DUNX��LWG��

�
��� (NR�PX]HM�

R� ,QIRUPDFLMH�L�SURGDMD�NDUDWD�
R� 3URGDYQLFD� �� NQMLJH�� åXUQDOL��PDJD]LQL�� QRYLQH�� VXYHQLUL� �PDMLFH�� ãDORYL�� RORYNH�� SRVWHUL�� UD]JOHGQLFH� L� VOLþQL� DUWLNOL� VD�PRWLYLPD�

1DFLRQDOQRJ�3DUND��� ORNDOQH� UXNRWYRULQH� �NHUDPLND��VOLNH�� IRWRJUDILMH��VWDNOR�� LWG����SURL]YRGL� YH]DQL�X]�ELOMQL� L� åLYRWLQMVNL�VYHW�� WH�
LVWRULMX�L�JHRJUDILMX�1DFLRQDOQRJ�SDUND��LWG��
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R� 6DGUåDM�HNR�PX]HMD��
��� 3URVWRU�VD�LQRYDWLYQLP�SULND]RP�SULURGQH�EDãWLQH�7DUH�
��� 3URVWRU�JGH�VH�UHSURGXNXMH�WUDGLFLRQDOQL�QDþLQ�åLYRWD�RYRJ�NUDMD�
��� ,]ORåEHQL�SURVWRU�VD�UD]OLþLWLP�DODWLPD�NRMH�VX�ORNDOQL�VWDQRYQLFL�NRULVWLOL�X�VYDNRGQHYQRP�åLYRWX�
��� 6RED�]D�VDVWDQNH��NRQIHUHQFLMH��VHPLQDUH��UDGLRQLFH��LWG��

�
��� &HQWDU�]D�DNWLYQRVWL��

R� 2UJDQL]DFLMD�L�SURGDMD�SDNHWD�UD]OLþLWLK�DNWLYQRVWL���
�� ELFLNOL]DP��ãHWQMH��SODQLQDUHQMH��LWG��
�� UDGLRQLFH�
�� L]QDMPOMLYDQMH�RSUHPH�]D�DNWLYQRVWL�
�� LJUDOLãWH�]D�GHFX�
�� RVWDOR�

�
��� 3URGDYQLFD���ORNDOQH�UXNRWYRULQH��NHUDPLND��VOLNH��IRWRJUDILMH��VWDNOR��LWG����ORNDOQL�SUHKUDPEHQL�SURL]YRGL��PHG��LWG���SURL]YRGL�YH]DQL�

X]�ELOMQL�L�åLYRWLQMVNL�VYHW��WH�LVWRULMX�L�JHRJUDILMX�1DFLRQDOQRJ�SDUND��LWG��
��� 5HVWRUDQ��EDU�VD�YUWQRP�WHUDVRP�
��� &HQWUDOQR�SLNQLN�SRGUXþMH�±�IRUPLUDQR�GR�VDPRJ�&HQWUD��D�NRMH�EL�SRVOXåLOR�L�]D�RJUDQLþHQH�PDQLIHVWDFLMH�L�GRJD DQMD��

�
9LGLNRYFL�

��� 6LVWHP�YLGLNRYDFD�ORFLUDQLK�QD�VWUDWHãNLP�PHVWLPD�VD�GREULP�SULVWXSRP�L�NRQWURORP�NRULãWHQMD�
��� 2JUDGD��RG�GUYHWD��
��� ,QIRUPDWLYQH�SORþH�VD�R]QDþHQRP�PUHåRP�YLGLNRYDFD�L�RVWDOLK�DWUDNFLMD��YUKRYL��UHNH��VWDQLãWD�RPRULNH��LWG���
��� 'DOHNR]RU��NRULVWL�VH�XEDFLYDQMHP�NRYDQLFD��
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�

��� )RWRDSDUDW��JHQHULUD�IRWRJUDILMX�X]�XEDFLYDQMH�NRYDQLFD��
��� 6LVWHP�VDNXSOMDQMD�RWSDGD�

1DSRPHQD��GHWDOMDQ�RSLV�RSUHPDQMD�YLGLNRYDFD�QDOD]L�VH�X�GRGDWQLP�SURJUDPLPD�3ODQD�NRQNXUHQWQRVWL�RYRJ�0DVWHU�SODQD�
6WD]H�]D�ãHWQMX�L�ELFLNOLVWLþNH�VWD]H�VD�PHVWLPD�]D�RGPRU�

��� 8UH HQMH�VWD]D�]D�ãHWQMX�L�ELFLNOLVWLþNLK�VWD]D�
��� 6WUXNWXULVDQMH�SR�UD]OLþLWLP�VWHSHQLPD�]DKWHYQRVWL�
��� 3RVWDYOMDQMH�RGJRYDUDMXüHJ�VLVWHPD�VLJQDOL]DFLMH�
��� .UHLUDQMH�SXQNWRYD�]D�RGPRU� L�RSUHPDQMH�VNORQLãWLPD���QDGVWUHãQLFDPD��SUL�þHPX�MH�SRWUHEQR���SXQNWRYD�]D�RGPRU�RSUHPLWL�GUYHQLP�

NOXSDPD�L�VWRORYLPD�]D�VHGHQMH��ZF�RP�L�VOLþQR���
��� 6LVWHP�VDNXSOMDQMD�RWSDGD�

1DSRPHQD��GHWDOMDQ�RSLV�NRQFHSWD�ELFLNOLVWLþNLK�VWD]D��QDOD]L�VH�X�GRGDWQLP�SURJUDPLPD�3ODQD�NRQNXUHQWQRVWL�RYRJ�0DVWHU�SODQD�
.OMXþQH�WDþNH�LQWHUHVD�
.UHLUDQMH�SXQNWRYD�NOMXþQLK�WDþDND�LQWHUHVD�VD�LQWHUSUHWDFLMRP�ELOMQLK�L�åLYRWLQMVNLK�YUVWD��HWQR�EDãWLQH��WH�RVWDOLK�SULURGQLK�]QDPHQLWRVWL�13�7DUD��

��� 
6YHW�RPRULNH
�±�LQWHUSUHWDFLMD�SURFHVD�UD]YRMD�3DQþLüHYH�RPRULNH�
�� 2JUD HQL�L�]DãWLüHQL�GHR�VD�]DVD HQLP�VWDEOLPD�RPRULNH�UD]OLþLWLK�X]UDVWD�
�� ,QIRUPDFLRQD�SORþD�
�� ,WG��

��� 
äLYRW�7DUVNRJ�PHGYHGD
�L�
6YHW�GLYRNR]H
�±�WDþNH�]D�SURPDWUDQMH�PHGYHGD�L�GLYRNR]H�
�� 2VPDWUDþQLFH�
�� ,QIRUPDFLRQH�SORþH�
�� ,WG��

��� 
,]YRUL�7DUH
�±�WDþNH�]D�RELOD]DN�L�XþHQMH�R�L]YRULPD�7DUH�
�� ,QIRUPDFLRQH�SORþH�
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(NR�VHOR�-DJRãWLFD�
��� 'HILQLVDQMH�MDVQLK�SUDYLOD�]D�NUHLUDQMH�HNR�VHOD��

�� 3UDYQH�L�]DNRQVNH�SURFHGXUH�
�� 7HKQLNH��PDWHULMDOL��ERMH��REOLFL� L�GLPHQ]LMH��VWLO��YRGRVQDEGHYDQMH��DOWHUQDWLYQL�QDþLQL�VQDEGHYDQMD�HOHNWULþQRP�

HQHUJLMRP��VXQþHYD�HQHUJLMD��YHWDU��LWG����NDQDOL]DFLMD��UHFLNOLUDQMH��LWG��
�� .UHLUDQMH�QRYLK�PRJXüQRVWL�]D�ORNDOQR�VWDQRYQLãWYR��QDURþLWR�]D�PODGH�

��� 5HKDELOLWDFLMD�SRVWRMHüLK�REMHNDWD��NXüD��IDUPL��YRGHQLFD��LWG��
��� 3REROMãDQMH� L� RGUåDYDQMH� SURPHWQH� LQIUDVWUXNWXUH� QD� 3UHGRYRP� .UVWX� �RGUåDYDQMH� SHãDþNLK� ]RQD�� R]QDþDYDQMH��

RJUDGH��YLGLNRYFL��LWG���
��� ,QIRUPDFLMH�L�R]QDþDYDQMH�RG�%DMLQH�%DãWH��3HUXüFD�L�.DOX HUVNLK�%DUD�
��� .UHLUDQMH�REMHNDWD�KUDQH�L�SLüD�VD�SRQXGRP�ORNDOQLK�VSHFLMDOLWHWD�

�

�����&LOMDQD�WUåLãWD�
3RVHWD�7HPDWL]LUDQRP�SDUNX�SULURGH�7DUD�QD�3UHGRYRP�.UVWX�WUHED�ELWL�YUKXQDF�WXULVWLþNRJ�ERUDYND�QD�7DUL��&LOMQD�WUåLãWD�XNOMXþXMX�GRPDüH� L�
VWUDQR� WUåLãWH�� VD� SRVHEQLP� IRNXVRP� QD� GHFX� L� PODGH�� WLQHMGåHUH�� ãNROVNH� JUXSH�� VWXGHQWH� QD� XQLYHU]LWHWLPD�� QDXþQLNH�� SRURGLFH�� JUXSH� L�
NRUSRUDWLYQH�JRVWH�VD�]DKWHYLPD�]D�RGPRURP�X�SULURGL��
�
�
�
�
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�

�����3URFHQD�SRVORYQRJ�SRWHQFLMDOD�

.DSDFLWHW�SRVHWLODFD�
3HULRG�SRVORYDQMD� ��� .RULãüHQMH� ���
*RGLãQML�EURM�SRVHWLODFD�
3HULRG�VWDELOL]RYDQMD�

GRPDüH ��� L]OHWQLFL ���
LQRVWUDQR ��� WXUH ���

VWDFLRQDUQL�JRVWL ���
3URVHþQD�RVWYDUHQD�FHQD�

NDUWH� ����HYUD

%URM�JRVWLMX�NRML�WURãH�
GRGDWQH�XVOXJH� ����� 3URVHþQD�FHQD�]D�GRGDWQH�

XOVXJH� ���HYUD

%URM�JRVWLMX�X�
XJRVWLWHOMVWYX� ��� 3URVHþQD�SRWURãQMD�SR�JRVWX�

�NXYHUX��X�XJRVWLWHOMVWYX� ��HYUD

%URM�JRVWLMX�NRML�WURãH�X�
WUJRYLQDPD�L�RVWDOR�

��� 7UJRYLQH�L�RVWDOD�SRWURãQMD�SR�
JRVWX�

��HYUD

������

3ULKRG�GRGDWQLK�XVOXJD�XNOMXþXMH��SUHYR]��YRGLþL�HWF�

3ULKRG�WUJRYLQD�L�RVWDOL�SULKRGL�

3UHGRY�.UVW���3DUN�SULURGH
(NRQRPVNR�WUåLãQD�HYDOXDFLMD�SURJUDPD�SDUND

7UåLãWH�

&HQD�NDUWH�

��JRGLQH�SRVOH�LQYHVWLFLMH

a�����SRVHWLODFD�GQHYQR

3ULKRG�GRGDWQLK�XVOXJD
� �������HYUD

8.831$�32752â1-$�*267,-8�
�35,+2'�� ��������HYUD

2VWDOD�SRWURãQMD �������HYUD

3ULKRG�XJRVWLWHOMVWYD� ��������HYUD

3ULKRG�NDUDWD� ��������HYUD

�������HYUD

�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�


�

�����=DNOMXþFL�L�SUHSRUXNH�
6PDWUDPR�GD�VH�RYDM�SURMHNDW� WUHED�KLWQR�GD� LQLFLUD�X� VDUDGQML�13�7DUD� L�'02�D�%DMLQD�%DãWD��3UL� WRPH� MH�QHRSKRGQR�GD�VH�RYDM�3URMHNDW��
DSOLFLUD�QD�GRPDüH�L�SRVHEQR�LQWHUQDFLRQDOQH�IRQGRYH�YH]DQH�]D�RGUåLYL�UD]YRM�L�HNRORJLMX��
3UHGODåHPR�VOHGHüH�NOMXþQH�NRUDNH��

9� KLWQX�L]UDGX�L�VSURYR HQMH��SODQD�UHJXODFLMH�]D�RYDNDY�WLS�SURMHNWD����
9� L]UDGD�GHWDOMQRJ�SURJUDPD��NRQFHSWXDOQRJ�GL]DMQD�SURMHNWD�RG�VWUDQH�QHNH�RG�UHQRPLUDQLK�LQWHUQDFLRQDOQLK�ILUPL�V�LVNXVWYRP�X�UD]YRMX�

WHPDWL]RYDQLK�SULURGQLK�SDUNRYD��
9� NRQWDNWLUDQMH�VYHWVNLK�GREDYOMDþD�WHKQRORãNH�RSUHPH�L�DWUDNFLMD�]D�RYDNDY�WLS�SDUNRYD��
9� RUJDQL]DFLMD�PHQHGåPHQWD�]D�UHDOL]DFLMX�SURMHNWD��
9� UHDOL]DFLMD�LQYHVWLFLMD�L�XNOMXþLYDQMH�ORNDOQRJ�PDORJ�L�VUHGQMHJ�EL]QLVD�QD�SRMHGLQLP�GHORYLPD�SURMHNWD����



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�


�

���,QWHUSUHWDFLRQL�FHQWDU��7DUD�'ULQD��

�����0RJXüQRVW�
%DMLQD�%DãWD�GDQDV�LPD�SR]LFLMX�GHVWLQDFLMH�]D�GRPDüH�SRVHWLRFH�QD�7DUL��L�NDR�WDNYD�LPD�RVQRYX�WXULVWLþNLK�DNWLYQRVWL�L�XVOXJD��NDR�L�ERJDWVWYR�
SULURGQLK� UHVXUVD� L� DWUDNFLMD�� 3ULOLND� ]D� EXGXüL� UD]YRM� WXUL]PD� %DMLQH� %DãWH� QDOD]L� VH� X� LQWHOLJHQWQRM� NRPELQDFLML� SRQXGH� NRMD� VH� ED]LUD� QD�
DWUDNWLYQRVWL�7DUH�L�LQWHUSUHWDFLML�QMHQLK�ERJDWVWDYD�X�REOLNX�,QHWHUSUHWDFLRQRJ�FHQWUD�NRMHJ�MH�QDMEROMH�ORFLUDWL�X�VDPRP�JUDGX��

�����3RVORYQL�NRQFHSW�
,QWHUSUHWDFLRQL� FHQWDU�7DUD� MH� SRWUHEQR� UD]YLWL� NDR� VDPRVWDOQX�DWUDNFLMX�� NRMD� üH� SUHGVWDYOMDWL� QH]DRELOD]QX� WDþNX�NRG�SRVHWH� UHJLML�� D� VYRMLP�
JRVWLPD�SUXåLüH�UD]XPHYDQMH�SULURGH��LVWRULMH��UD]YRMD��NXOWXUH��WH�SULURGQRJ�L�GUXãWYHQRJ�RNUXåHQMD�FHORJ�SRGUXþMD�7DUH��,QWHUSUHWDFLRQL�FHQWDU�
QDPHQMHQ�MH�GRPDüLP�L�VWUDQLP�JRVWLPD��D�VDPRM�UHJLML�GRSULQHüH�SRGL]DQMHP�QLYRD�DWUDNWLYQRVWL�L�GLYHUVLILNDFLMRP�SURL]YRGD�L�DNWLYQRVWL�7DUH�L�
%DMLQH�%DãWH����������������������������������
,QWHUSUHWDFLRQL�FHQWDU�SUXåDüH� 
HGXWDLQPHQW
� �XþHQMH� L�]DEDYX��DNWLYQRVWL�]D�JRVWH�VD�UD]OLþLWLP�PRWLYLPD�SXWRYDQMD���GRODVND�X� UHJLMX��NDR�QD�
SULPHU��L]ORåEHQX�JDOHULMX��YLGHR���LQWHUDNWLYQX�PXOWLPHGLMDOQX�]RQX��HGXNDFLRQH�VDGUåDMH�NRML�GDMX�PRJXüQRVW�XþHQMD�R�1DFLRQDOQRP�SDUNX��IORUL��
IDXQL��JHRJUDILML�L�JHRORJLML��LVWRULML�L�GUXãWYHQRP�UD]YRMX��ORNDOQRM�]DMHGQLFL�SRGUXþMD��LWG�������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
&HQWDU�üH�WDNR H�QXGLWL�XVOXJH�LQWHUQHWD��]DWLP�RELOD]DN�VD�YRGLþHP��XVOXJH�KUDQH�L�SLüD��SURVWRU�]D�SUHGVWDYH�L�NRQFHUWH��WUJRYLQH�VD�VXYHQLULPD�
L� ORNDOQLP� UXNRWYRULQDPD�� WH� SURL]YRGLPD� YH]DQLPD� X]� SRVHWX� FHQWUX� L� VD�PRWLYLPD� YH]DQLP� X]� 1DFLRQDOQL� SDUN�� NDR� L� NQMLJDPD��PDSDPD��
ãWDPSDQLP�YRGLþLPD��LWG��

�����6WUXNWXUD�,QWHUSUHWDFLRQRJ�FHQWUD��
,QWHUSUHWDFLRQL�FHQWDU�]D�FHORGQHYQH�SRVHWH�L�RQH�RG�QHNROLNR�VDWL��SRVHWLRFLPD�SUXåD�XåLWDN��]DEDYX�L�XþHQMH�R�NDUDNWHULVWLNDPD�1DFLRQDOQRJ�
SDUND�L�'ULQH��0RJXüD�ORNDFLMD�WUHEDOD�EL�GD�EXGH�QD�ãLUHP�SURVWRUX�GDQDãQMH�EHQ]LQVNH�VWDQLFH�SUL�XOD]X�X�%DMLQX�%DãWX��2YR�L]�UD]ORJD�ãWR�MH�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�


�

WDM�SURVWRU�LGHDOQR�PHVWR�NRML�VSDMD�UHNUHDFLRQL�SURVWRU�X]�'ULQX�VD�JODYQLP�XOD]QR���L]OD]QLP�SXQNWRYLPD�SUHPD�VHYHUX�L�LVWRNX��&HQWDU�WUHED�GD�
LPD�VOHGHüH�HOHPHQWH��
�

,�� 3RGUXþMD�
�

$�� 3URVWRU�]D�SDUNLUDQMH�DXWRPRELOD�L�DXWREXVD�
%�� ,QIRUPDWLYQL�FHQWDU��VD�SURGDYQLFRP��XNOMXþXMXüL��

��� %LUR�]D�SURGDMX�L�UH]HUYDFLMX�NDUDWD�XOD]QLFD�
��� .QMLJH��åXUQDOH��PDJD]LQH��QRYLQH��LWG��
��� 6XYHQLUH�L�VO���PDMLFH��ãDOLFH��RORYNH��SRVWHUH��UD]JOHGQLFH�L�VOLþQH�DUWLNOH�VD�PRWLYLPD�1DFLRQDOQRJ�3DUND��
��� /RNDOQH�UXNRWYRULQH��NHUDPLND��VOLNH��IRWRJUDILMH��VWDNOR��LWG���
��� 3URL]YRGH�YH]DQH�X]�ELOMQL�L�åLYRWLQMVNL�VYHW��WH�LVWRULMX�L�JHRJUDILMX�1DFLRQDOQRJ�SDUND�
��� L�VOLþQR��

&�� =JUDGX�VD�UD]OLþLWLP�]RQDPD�,QWHUSUHWDFLRQRJ�FHQWUD��
L�� 8OD]QL�SURVWRU�L�UHFHSFLMD�VD�LQIRUPDFLMDPD��XVOXJDPD�YRGLþD��JDUGHURERP��LWG��
LL�� 5D]OLþLWH�]RQH�UDVSRUH HQH�X�]JUDGL��

D�� =RQD�LVWRULMH�L�HYROXFLMH�
E�� =RQD�SULURGH�
F�� =RQD�GXKRYQRVWL�
G�� =RQD�DNWLYQRVWL�

LLL�� 6RED�]D�VDVWDQNH��NRQIHUHQFLMH��UDGLRQLFH��SUH]HQWDFLMH��VHPLQDUH��LWG��
LY�� 6DQLWDUQH�SURVWRULMH�
Y�� 5HVWRUDQ�L�EDU�
YL�� 3URGDYQLFD�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�


�

��
,,�� 8VOXJH�
�

D�� 3RVHWH�VD�YRGLþHP�QD�UD]OLþLWLP�MH]LFLPD��VUSVNL��QHPDþNL��HQJOHVNL��LWG���
E�� .UDWNL�WHþDMHYL�R�ELOMQRP�L�åLYRWLQMVNRP�VYHWX��JHRJUDILML��1DFLRQDOQRP�3DUNX��QMHJRYLP�SUDYLOLPD��LWG��
F�� 5HVWRUDQ�L�EDU�VD�UD]QRYUVQRP�SRQXGRP�MHOD�L�SLüD��

L�� %H]DONRKROQD�SLüD�
LL�� 6HQGYLþL�L�VQHNRYL�
LLL�� 7RSOD�MHOD�
LY�� 7UDGLFLRQDOQL�PHQL��SUHGMHOR��JODYQR�MHOR��GHVHUW�L�SLüH�SR�MHGLQVWYHQRM�FHQL��
Y�� $�OD�FDUWH�PHQL�

�

�
��



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�

� �

,,,�� (NVWHUQR�L�LQWHUQR�R]QDþDYDQMH��
�

L�� (NVWHUQR�R]QDþDYDQMH�RG�JODYQH�SXWHYH�SUL�XODVNX�QD�SRGUXþMH�2SãWLQH�%DMLQD�%DãWD��VD�R]QDNDPD�JODYQLK�DWUDNFLMD�L�DNWLYQRVWL�X�
RSãWLQL�

LL�� ,QWHUQR�R]QDþDYDQMH�QD�SXWHYLPD�SUL�XODVNX�X�%DMLQX�%DãWX��MDVQL�]QDNRYL�]D�,QWHUSUHWDFLRQL�FHQWDU��
�

��
�

� 3DUNLUDQMH�DXWRPRELOD�L�DXWREXVD � %LUR�]D�SURGDMX�L�UH]HUYDFLMX� � 5HFHSFLMD�VD�LQIRUPDFLMDPD�
� %LEOLRWHND
� 3URGDYQLFH � =RQD�LVWRULMH�L�HYROXFLMH

� =RQD�SULURGH
� =RQD�GXKRYQRVWL
� =RQD�DNWLYQRVWL
� 3URVWRULMH�]D�VDVWDQNH
� 5HVWRUDQ�L�EDU
� 3URGDYDRQLFH

352*5$0�6$'5å$-$���,17(535(7$&,21,�&(17$5�%$-,1$�%$ã7$
=RQH�LQWHUSUHWDFLRQRJ�FHQWUD

=RQH�LQWHUSUHWDFLRQRJ�FHQWUD
3URVWRU�]D�SDUNLUDQMH ,QIRUPDFLRQL�FHQWDU

�
�

�
�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�

� �

�����6DGUåDM�LQWHUSUHWDFLRQRJ�FHQWUD�
=RQD�LVWRULMH�L�HYROXFLMH�
3RGUXþMH� VD� SULþRP� R� HYROXFLML� SRGUXþMD�� VD� QDMYDåQLMLP� þLQMHQLFDPD� YH]DQLP� X]� SODQLQX� 7DUX� L� RNROQD� SRGUXþMD�� D� SRVHEQR�
2SãWLQX�%DMLQX�%DãWX��
,QIRUPDWLYQH�SORþH��YLGHR�SULND]L��VOLNH�L�PDSH�SULND]XMX�VRFLR�HNRQRPVNL�UD]YRM��WH�ORFLUDMX�SRGUXþMD�OMXGVNLK�DNWLYQRVWL��WUDGLFLMD��
IRONORUD��JDVWURQRPLMH��LWG��
=RQD�SULURGH�

��� %LOMQL�L�åLYRWLQMVNL�VYHW��PHGYHGL��GLYRNR]H��ULED��SWLFH��3DQþLüHYD�RPRULND��DURPDWLþQR�ELOMH��LWG��
��� *HRJUDILMD�L�JHRORJLMD�X�WURGLPHQ]LRQDOQRP�SULND]X��

D�� 3ODQLQVNL� VLVWHP� L� REOLN� SODQLQH� 7DUH� �VD� VYLP� SRGUXþMLPD� L� SODWRLPD� SRSXW� .DOX HUVNLK� EDUD�� 0LWURYFD��
3UHGRYRJ�NUVWD��]DWLP�YUKRYLPD�SRSXW�.R]MHJ�ULGD��&UQRJ�YUKD�� LWG��� WH�RVWDOLK� WDþDND�QD�SODQLQL�7DUL��ãWR�
WUHED�GD�XNOMXþXMH�L�SRGUXþMD�SODQLQH�NRMD�SULSDGDMX�GUXJLP�RSãWLQDPD�L�VXVHGQRM�%L+���

E�� +LGURJUDILMD���'ULQD��5DþD��'HUYHQWD��LWG���NDR�L�MH]HUD�3HUXüDF�L�=DRYLQH�L�RVWDOD�PUHåD�UHND��UHþLFD��SRWRND�
L�PDQMLK�MH]HUD��

��� 1DFLRQDOQL�3DUN�7DUD�
D�� 3UDYLOD� ]DãWLWH��ãWDPSDQH� LQIRUPDFLMH�VD�RSãWLP�SUDYLOLPD�]DãWLWH�� WH�SUDYLOLPD�SRQDãDQMD�X�1DFLRQDOQRP�

SDUNX�
E�� 6SHFLILþQH�PDSH�SRGUXþMD��SXWHYL��LWLQHUDUL��L]OHWQLþNL�SXQNWRYL��DNWLYQRVWL��LWG��

��� 'ULQD�L�MH]HUR�3HUXüDF�
D�� /MXGVND�XSRWUHED�SULURGH��+LGURHOHNWUDQD��VLVWHP�WUDQVSRUWD�GUYD�VSODYRYLPD���ULERORY��LWG��
E�� 3ULURGQR�RNUXåHQMH���ELOMQL�L�åLYRWLQMVNL�VYHW��]QDþDM�]D�SULURGQX�UDYQRWHåX��]QDþDM�UHNH�]D�UD]YRM�UHJLMH��LWG��
F�� 'RåLYOMDM�UHNH�

�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�

� 


=RQD�GXKRYQRVWL�
���,VWRULMD�L�]QDþDM�0DQDVWLUD�5DþD�
���6WLO�JUDGQMH�PDQDVWLUD�L�]QDþDMQH�NDUDNWHULVWLNH�
���'XKRYQRVW��UHOLJLMD�L�7DUD�
���/HJHQGH�X�UHJLML�

=RQD�DNWLYQRVWL�
��� 7UDGLFLMD� L� LQGXVWULMD� �� YRGHQLFH�� GUYQD� LQGXVWULMD�� SURL]YRGQMD� GXYDQD�� UDNLMH�� ULEDUVWYR�� SROMRSULYUHGD� L� VWRþDUVWYR�� ORY� L�

ULERORY��WUJRYLQD��LWG��
��� /RNDOQD�WUDGLFLMD���JDVWURQRPLMD��IRONORU��NRVWLPL��GRJD DML��PX]LND�L�WUDGLFLRQDOQL�LQVWUXPHQWL��LWG��
��� .UHLUDQMH�SLNQLN�]RQH�X]�,QWHUSUHWDFLRQL�FHQWDU��

9� ,QIRUPDFLMH�L�SURGDYQLFD�VD�KUDQRP��SLüHP�L�PDWHULMDOLPD�SRWUHEQLP�]D�SLNQLN�
9� 3XQNWRYL�VD�VWRORYLPD�L�VWROLFDPD�L�PHVWLPD�]D�URãWLOM�

�

��
�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�

� �

�����3URFHQD�SRVORYQRJ�SRWHQFLMDOD�

.DSDFLWHW�SRVHWLODFD�
3HULRG�SRVORYDQMD� ����GDQD .RULãüHQMH� ���
*RGLãQML�EURM�SRVHWLODFD�
3HULRG�VWDELOL]RYDQMD�

GRPDüH ��� QSU�� DFL��VWXGHQWL SUROD]QH�JUXSH
LQRVWUDQR ��� L]OHWQLFL 0,&(�JUXSH

3URVHþQD�RVWYDUHQD�FHQD�
NDUWH� ����HYUD

%URM�JRVWLMX�QD�
NRQIHUHQFLMDPD�

����� 3URVHþQD�FHQD�]DNXSD�SURVWRUD�
SR�JRVWX�QD�NRQIHUHQFLML�

��HYUD

%URM�JRVWLMX�X�
XJRVWLWHOMVWYX� ��� 3URVHþQD�SRWURãQMD�SR�JRVWX�

�NXYHUX��X�XJRVWLWHOMVWYX� ��HYUD

%URM�JRVWLMX�NRML�WURãH�X�
WUJRYLQDPD�L�RVWDOR�

��� 7UJRYLQH�L�RVWDOD�SRWURãQMD�SR�
JRVWX�

��HYUD

a�����SRVHWLODFD�LVWRYUHPHQR

3ULKRG�NRQIHUHQFLMD� �������HYUD

������

8.831$�32752â1-$�*267,-8�
�35,+2'�� ��������HYUD

3ULKRG�NDUDWD� ��������HYUD

3ULKRG�XJRVWLWHOMVWYD� ��������HYUD

3ULKRG�WUJRYLQD�L�RVWDOL�SULKRGL� �������HYUD

%DMLQD�EDãWD���,QWHUSUHWDFLRQL�FHQWDU
(NRQRPVNR�WUåLãQD�HYDOXDFLMD�SURJUDPD�LQWHUSUHWDFLRQRJ�FHQWUD

7UåLãWH�

&HQD�NDUWH�

��JRGLQH�SRVOH�LQYHVWLFLMH

�



0$67(5�3/$1�5$=92-$�785,=0$�6$�326/291,0�3/$120�=$�3/$1,18�7$58�,�1-(12�2.58æ(1-(� � �� � � +RUZDWK�&RQVXOWLQJ�=DJUHE�
)LQDOQL�L]YHåWDM���6HSDUDW�
�

� 


�����=DNOMXþFL�L�SUHSRUXNH�
2YDM�SURMHNW�LQLFLUD�2SãWLQD�%DMLQD�%DãWD�X]�VDJODVQRVW�L�SRGUãNX�QDGOHåQLK�PLQLVWDUVWDYD��
'02�%DMLQD�%DãWD�MH�RSHUDWLYQQL�QRVLODF�SURMHNWD��
3UHGODåHPR�VOHGHüH�NOMXþQH�NRUDNH��

9� SURQDODåHQMH�ORNDFLMH�X�RNYLUX�*83�D�%DMLQD�%DãWD��
9� L]UDGD� GHWDOMQRJ� SURJUDPD�� NRQFHSWXDOQRJ� GL]DMQD� SURMHNWD� RG� VWUDQH� QHNH� RG� UHQRPLUDQLK� LQWHUQDFLRQDOQLK� ILUPL� V�

LVNXVWYRP�X�UD]YRMX�LQWHUSUHWDFLRQLK�FHQWDUD��
9� NRQWDNWLUDQMH�VYHWVNLK�GREDYOMDþD�WHKQRORãNH�RSUHPH�L�DWUDNFLMD�]D�RYDNDY�WLS�DWUDNFLMD��
9� RUJDQL]DFLMD�PHQHGåPHQWD�]D�UHDOL]DFLMX�SURMHNWD��
9� UHDOL]DFLMD�LQYHVWLFLMD�L�XNOMXþLYDQMH�ORNDOQRJ�PDORJ�L�VUHGQMHJ�EL]QLVD�QD�SRMHGLQLP�GHORYLPD�SURMHNWD����

�

�
�


